	        NELYAS
	                                      SAYILARI ÇÖZÜMLEME  

	
	Adı Soyadı:…………………………………………..    No:…… 

	
	- 




ÇÖZÜMLENMİŞ OLARAK VERİLEN SAYILARI YAZINIZ.
	1 a.   
	90000 + 900 + 80 + 7000 + 3 = ______



	

	2 a.   
30 + 20000 + 0 + 9000 + 0 = ______



	3 a.   
8 + 700 + 0 + 50000 + 60 = ______



	4 a.   
0 + 20 + 100 + 5000 + 20000 = ______



	5 a.   
0 + 20000 + 100 + 2000 + 6 = ______



	6 a.   
5 + 200 + 4000 + 90 + 20000 = ______



	7 a.   
7 + 600 + 8000 + 60000 + 30 = ______



	8 a.   
0 + 30000 + 0 + 7000 + 0 = ______



	9 a.   
7 + 40 + 0 + 3000 + 40000 = ______



	10 a.   
40 + 70000 + 300 + 6000 + 5 = ______



	11 a.   
7 + 400 + 1000 + 60000 + 60 = ______



	12 a.   
9 + 40 + 900 + 8000 + 70000 = ______



	1 a.   
200000 + 70000 + 600 + 2000 + 20 + 0 = _______



	2 a.   
2 + 60 + 500 + 3000 + 90000 + 800000 = _______



	3 a.   
7000 + 200 + 50 + 0 + 80000 + 500000 = _______



	4 a.   
4 + 40 + 100 + 8000 + 20000 + 600000 = _______



	5 a.   
4 + 60 + 500 + 4000 + 60000 + 900000 = _______



	6 a.   
9 + 70 + 100 + 9000 + 30000 + 100000 = _______



	7 a.   
5 + 800 + 1000 + 60000 + 70 + 900000 = _______



	8 a.   
100000 + 30000 + 200 + 0 + 0 + 2 = _______



	9 a.   
100 + 40 + 700000 + 2000 + 20000 + 9 = _______



	10 a.   
0 + 200 + 0 + 1 + 70000 + 800000 = _______



	11 a.   
50000 + 400000 + 300 + 9000 + 1 + 30 = _______



	12 a.   
500 + 30 + 200000 + 5000 + 40000 + 4 = _______




	1 a.   
	0 + _________ + 100 + 2000 + 0 = 32100



	

	2 a.   
_________ + 30 + 900 + 6000 + 30000 = 36934



	3 a.   
4 + _________ + 7000 + 10000 + 70 = 17674



	4 a.   
8 + _________ + 5000 + 60 + 90000 = 95968



	5 a.   
800 + _________ + 0 + 7000 + 30 = 57830



	6 a.   
70000 + 300 + 80 + 4000 + _________ = 74387



	7 a.   
4 + 40 + 200 + _________ + 50000 = 52244



	8 a.   
4 + _________ + 400 + 1000 + 90000 = 91454



	9 a.   
_________ + 10000 + 8 + 5000 + 0 = 15208



	10 a.   
4 + 80 + _________ + 0 + 50000 = 50184



	11 a.   
2 + 90 + 900 + 2000 + _________ = 72992



	12 a.   
2 + 900 + _________ + 50000 + 20 = 56922




	1 a.   
	90 + __________ + 100 + 9000 + 3 + 100000 = 199193



	

	2 a.   
70 + __________ + 300 + 4000 + 7 + 700000 = 714377



	3 a.   
40 + 70000 + 500 + 5000 + __________ + 700000 = 775541



	4 a.   
__________ + 700 + 5000 + 0 + 0 + 900000 = 905706



	5 a.   
2000 + __________ + 0 + 5 + 20000 + 600000 = 622105



	6 a.   
__________ + 100000 + 400 + 1000 + 1 + 20 = 171421



	7 a.   
400 + 70 + __________ + 5000 + 90000 + 9 = 695479



	8 a.   
300 + 40 + 800000 + __________ + 60000 + 6 = 865346



	9 a.   
50 + 70000 + 800 + 3000 + __________ + 600000 = 673853



	10 a.   
10 + 40000 + 100 + __________ + 4 + 500000 = 545114



	11 a.   
5 + 90 + 200 + __________ + 90000 + 400000 = 493295



	12 a.   
60000 + 900000 + 300 + 5000 + __________ + 30 = 965332




 

                    AŞAĞIDAKİ SAYILARI ÇÖZÜMLEYİNİZ.

	1a.  

	718385 

	   



	
	

	2a.  

887483 

   


	

	3a.  

99092 

   


	

	4a.  

635727 

   


	

	5a.  

670005 

   


	

	6a.  

179748 

   


	

	7a.  

90205 

   


	

	8a.  

36109 

   


	

	1b.  

93899 

   


	

	2b.  

446761 

   


	

	3b.  

213829 

   


	

	4b.  

781544 

   


	

	5b.  

825954 

   


	

	6b.  

267082 

   


	

	7b.  

271758 

   


	

	1c.  

366388 

   


	

	2c.  

624404 

   


	

	3c.  

715817 

   


	

	4c.  

371909 

   


	

	5c.  

36246 

   


	

	6c.  

795645 

   


	

	7c.  

655351 

 


	

	8c.  

165135 

 


	

	9c.  

100251 
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